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1. (8pts) Without using the calculator, find the exact values of the following inverse
trigonometric functions. Draw the unit circle and the appropriate angle.
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2. (9pts) Find the exact values of the ex-
pressions below, Use a picture il necessary,
but do not use the calculator.
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3. (4pts) Find the exact value of the ex-
pression below. Draw a picture and do not
us=e the caleulator.
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4. (4pts) Use the picture below to estimate (in degrees) arccos(—0.8) and arctan(1.2). Then
evaluate theze nuwmbers using a caleulator and compare your answers.
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5. (4pts) Solve for 8 in [—7, 7.
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6. (3pts) Find all the solutions of cos(58) = %
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